Problem 1. Let f: A — B be a bijection. Prove that f~! is a bijection.
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Problem 2. Consider the function f : R — R given by f(z) = 2® — 5. It can be shown that f is a
bijection. Let’s take this as given for this problem. Use algebra to determine f~. Note that using
part 4 of today’s theorem, you can check your work by computing fo f~! or f~'o f.
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Problem 3. We have previously shown that f : Z — N given by
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is a bijection. Find f~!. Note that using part 4 of today’s theorem, you can check your work by
computing f o f~! or 1o f.
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Problem 4. Consider the functions £ : R\ {~2} — R\ {1} and g: R\ {1} - R\ {2} given by
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a. Calculate fog and go f.

b. Can we use the previous part and part 4 of today’s theorem to conclude anything?

@ Dah«j q\Jequ.c I;‘M]vw'co.{-t;m et 'plm(:t(u»g e

Can C‘at,ck %uu{ L-Foj)c,y,)z;(_ Qvuae, (3"{)(:(,)_—_)‘

‘ér ""“j x in 'ftw P’csrxo{:tw avavnq,.‘v..g u‘f 9 and f

® ertu.,a. CLecLi»‘j ’fl'wvt ‘p 3 o Ldec{;iou ,

t's  wit ‘nj!”olﬂ— L make fe  concligion Plat jz_f"

wiw)  Pavt 4 of MNowvem 114

Hnweuu, wext  tawe Lo’ il Prove thot ;(: -(', A”B
P j5 B-”A Gve ‘PMM—;{;L;..\J IM_‘L\_ ‘“'La{, ’Fuj :1:8

R N e B B '

s



